LO: To translate shapes on coordinate grids (bronze).
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Describe the translations.
a) From P to Q is right and up
b) From Q to R is right and up
c) FromR to S is left and up
d) From S to P is and
e) From Q to P is and
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Which triongles ore transiations of eoch other? 3
Explain why the others are not translations. ;
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LO: To translate shapes on coordinate grids (silver).

1) 2)

These coordinates form o quadrilateral: (-5, 5), (-5, 1), (-1, 4), {-1, 2)

Translate the triangle & left. It is transioted 3 right and 4 down.

* Drawy the guodrilateral on the grid in its new position,
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' A rectangle is translated two to the left
. and 4 up.
i A 35
Three of the coordinates of the translated
4 rectangle are: (6, 8) (10, 14) and (10, 8).
\ .
it What are the coordinates of the original
H—H rectangle?




LO: To translate shapes on coordinate grids (gold).

1) A triangle is drawn on the coordinate grid.
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a) Translate the triangle 9 right and 1 down.

b) Tick the correct box for each coordinate.

p Inside the Outside the On the perimeter
Point > : :
new triangle new triangle of the new triangle
(0, 0)
(4, -5)
(2, -1)
(-6, -3)
(3, 4)
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(—40, —40) (10, —40)

This parallelogram has been translated 50 left and 25 down.

What were the coordinates of all four vertices before it was translated?

True or False? These three coordinates have all been
3) 4) vranslated in the same way.

Dexter has translated the rectangle ABCD

B wnits down and 1 unit to the right to get

to the yellow rectangle.

Can you work out the missing
coordinates?

Explain your reasoning. Describe the translation.



LO: To translate shapes on coordinate grids (bronze)-answers.
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Describe the translations.
a) From P to Q is 2| |rightand || 3 || up
b) From Q to R is 6||rightand || 2 || up
c) FromR to S is 9||leftand || 3 || up
d) From S to P is 1||_|right | ondl|8 down |
e) From Q to P is 2||__Jleft | and|]|3 down | —
2) 3) Hers = @ rangks dmwn on @ oooetinale grad
y I
alf &
e B al 1|
D &

E

E

Which triongles ore tronsiotions of eoch other?
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Explain why the others are not tronslations.

B-too big C-wrong direction

The triargis is tunsiated 7 righl ard 5 op

Eirarve I briargin i 85 o OEST




LO: To translate shapes on coordinate grids (silver)-answers.

1) 2)

These coordinates form o quadrilateral: (-5, 5), (-5, 1), (-1, 4), {-1, 2)

Translate the triangle & left. It is transiated 3 right ond 4 down.

* Drawy the guodrilateral on the grid in its new position,
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' A rectangle is translated two to the left
. and 4 up.
i A3, (5
\ Three of the coordinates of the translated
‘ rectangle are: (6, 8) (10, 14) and (10, 8).
3
2 : What are the coordinates of the original
1 rectangle?

- (8,4) (8,10) (12,10) (12,4)
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LO: To translate shapes on coordinate grids (gold)-answers.

A triangle is drawn on the coordinate grid.
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a) Translate the triangle 9 right and 1 down.

b) Tick the correct box for each coordinate.

p Inside the Outside the On the perimeter
Point : s :
new triangle new triangle of the new triangle
(0, 0) v
(4, -5) Vv
(2, -1) v
(-6, -3) v
(3, -4) v
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(-40, —40) (-10, —40)

(-1,14) (29,14) (10,-15) (40,-15)

This parallelogram has been translated 50 left and 25 down.

What were the coordinates of all four vertices before it was translated?

True or False?

These three coordinates have all bean
4) vranslated in the same way.

Dexter has translated the rectangle ABCD
B units down and 1 unit o the right to get
to the yellow rectangle.
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False, because...

Explain your reasoning.
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Can you work out the missing
coordinates?

Describe the translation, | DOWN 2, Left 2




